(RN
<

) E: =
= ) o
g E: = L
= b 8
S [ w107
<) i i e ~ E %
g <) F 4%
1072k C
107
10°° -
107 E
10™ [ :
+
o v .910—%: L L ....! L inn
}E }E 1:—- 2P +- =r-|p:0 -----------
o bR THELTL L x ¥ 2l
0.95F 4 - ERPEERPRE
F +
0.95 1 5 3 0.9t 1 5 3
10~ 1 10 0 .1 10™ 1 10 0 -1
TP, (PCA t% beamling TP, (PCA t% beamline
—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—~ —~ 11—
IS IS i
S e
—~ —~
< -
o]
e
Q —
o [s]

107

10723 107
.91013*: P PRI PRI il 0 4 .910;35_ PPTT L
s : E £ - : :
@ 105 rfrnsesrrnedoncensnes 1[- 8 £ 3 - SCCERRRRS ¥ f ;+ % T4
o : 3 : U=k T el - F boeee
[ £ : 11LLT- + || F *ﬂ#
= #*t“""‘rm-{- i 2 & 2 e 11 o 4 . : +
; 4‘ c ] : : 5
0.95 0.95
107 1 107 1

2 3 2 3
TPl[g)T (PCA f%)obeamlinép TPl[g)T (PCA f%)obeamlinép

10 1

: 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


